T7°F AEH 448, B R # B
VAA(E A
5 \ TR i \
gt oviar. o

ot e CCTR s oe
WOHAER % B B TaR< T P72 481
PETRED kLT BE<
SUBIR . L) = X(s) va3vs.
| () = sX(s) -~ X(o)
L (A"6) = $X(s) — 20608 - 2"(0) ( Xis)=X etac)
il
A -6’ )+9xt)=0 , )=, 1w0)=-1 zEED
B 39 @nz 57T ¢
SXO-ST 1 =6 (sX) —1)+9Xs) =0 -~ x
(S-6s+1)X(s) =5+

L SRS 4 ,
X1$) SY6st9 S-3 T (s-3» £
=" (X) = | T (=) ~4-L“'((—§%7f)
t 3t
=@ -4¢-€

0T adHR BTE TP ER 1 2 AR 2
AFFREL o).



W Mo =3t =7 qiey=2
) L) +4At) +42)=0 , )~ , X'0)=-3 .
& (). Bt 777 AR RT3 |
- $X(8)-2 =3XI(s) = '2
(s~ 3>X(5) = 25-3

S-2 ,’W
__28s-3 2 [ »
X(S) 263 S-3 T 5= 83
. | t
Cam=6) =3 L (5 ) — 1 (5) =3 e e

(2). mm77°7xz22#f9273z.
X)) -st3 4 (sX)-1)+4X(s) =0

(s%H4s+4)X($) =5t |
' S+ - ] | Q
X(S) S+4St4 T S+ (S+2)° 7

) ) - () €1

w3

ey



2 P AGR) SR L RS
AR
AXR) b+ =Ft)  (AF0) , 1e)=Co, X10r=C, £¥253.
207mAE O LIk
O bAW+ ) =0 = FARIAER ).
tlnZRBR 0 TPIRE L LBy .
a(§2X(s)-SA0) —270))+ b (s X)=(02) + e X(s) = Fs)
(as™t bs+¢) X(5) = AcoS+AC+ beo +F(S) B3
w. Hey=asxlbstce

Ho(s) = ACGStHAC, +hco R

X(s)= %cg + ——E% CB3. W) BEF
- =l _ Ho(S) —| S A
AB)=L"(Xe) = | ( G )+L (—iLH(S)) B3

N HT % | 1R 3 BT o - SRR <y 3
QO fet)=0 erv1. BCEEATY.
3 B 0% 238 17 L nFfE 0 BHEF DD




27y H6) 2 2a 38X o B EET v,
DRAEN Ho=ashbste=0 ¥ S8 L0

= HO[S)
LT (1) w DANKEEA 705 R A o KI5 N3 TRy,
RSO REY L B =) s
() Wo-gg w0 Dlwe) =L (5 )

U ) =L Fows) <wef) ) cdpizerras

i ;Kﬂ%ﬁﬁﬁ??#ﬁ.
(1) A+ at) =1, U=A(0)=0
) A =3A0r2A0) = €" ,  q=Alo)=0
B () Bm0E7707 T3
2X(S)+X(SJ = JS—

N 0. ,
X(8)= S+| -6 s
xtt)=1 " (X(s)) =] ( ) '(_S'_):Amt* [
t
= L AnS ds = L‘C@eSL = — el + | b3 .

(2) %7 7°7 REHL 73 v
r

- | —— ]
Y(S)' @__{)::..CS-_Z) = (-g—_‘{—'—)g_- t ‘?‘"‘l— -+ Sl—_z J:—l)

AL ) (e ) ) s ) =t € 7 gy




BREREE
KR Tto, 1) TRE ik B 2t) 0 2PEEHRAEN kvt
Alt)=a , 1@)=h
“hFR R 3RER t RREAA v
o5 % FRE FR T EAAN o

BB 2, AREREE PR
V) -4 +5a8) =0, Ae=0 , A(=)=1.
B Ao waxe . BIHERE
SX-c-4sX+5X =0

TN N .
S=4St5  (5-2)*t |
c\x=¢f%x):g“( C_)=C€%at.

(S-2)™+ |

N\ ’1(%)= |
| =¢c.e" coc=e "
" 1=€Qt~n‘/um B3 .

Fﬂ%. 3/’-\Jﬂimﬁﬁﬁ%§«%%f7-
Q) "+3U-41=0 , Ao)=06., XU)=|
2) A" -/ —27 =36 AB)=0 , X)) =€



WNT =1 &Y
L A&
l =5 ('e;-te ) v C= o-o%F
t_ , ,
13 g*ee.q_ '(“ES

@ Ao)=c  wm<r. HFAAER 1
SK—C-sX-2X = 3~g—|_2—

ey

- 3 R
X (s*-5-2)(S~2) +C S-s5-2




